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NaI deposit energy vs mean time 
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ln(Mean time) vs NaI deposit energy (for nuclear recoils) 

Red cross       : 400 MHz FADC, low NG power 
Red square     : 500 MHz FADC, high NG power, Na recoil 
Green Square  : 500 MHz FADC, high NG power, I reocil 
Pink circle      : 500 MHz FADC, low NG power, Na recoil 
Blue circle      : 500 MHz FADC, low NG power, I reocil 

Because of  
low statistics? 
(1~200 evts) 
 
or contamination 
of gamma events? 
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ln(Mean time) 
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Peak : 5.231 
Err   : 0.013 

Peak : 5.197 
Err   : 0.008 

Peak : 5.195 
Err   : 0.007 

Peak : 5.201 
Err   : 0.012 



ln(Mean time) 
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Peak : 5.202 
Err   : 0.012 

Peak : 5.200 
Err   : 0.019 

Peak : 5.225 
Err   : 0.022 

Peak : 5.226 
Err   : 0.024 



NaI deposit energy vs mean time 

ln(MT) 

ln(nmt) ln(nmt500) 

Sum 

6 



Meantime distribution (Cs137 data, 2~3 keV) 
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Meantime distribution (Cs137 data, 6~7 keV) 
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Meantime distribution (neutron data, 2~3 keV) 
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Meantime distribution (neutron data, 6~7 keV) 
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Meantime distribution (Crystal2 vs crystal7, 9~10 keV) 


